Math 3298 Exam II
NAME: SCORE:

C? tﬂ- 1. Evaluate the iterated integral
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L? 6,}7 2. Sketch the region D of the double integral associated with the iterated integral in last problem.
Then change of order of the iterated integral to dzdy. Evaluate it.
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¢ 3. Use a Riemann sum with m = n = 2 to estimate the double integreal // -——————2—dA
P , pD24+x+y

where D = [-1,1] x [-1,1]. The sample points are chosen to be the right upper corner of
each sub-region.
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45 !7 4. Find the area of the surface z = zy that lies inside the cylinder 2 + y? = 1
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Sketch the region of integration. Then change the integration order and evaluate the new
integral.
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6. Find the volume of the region below the surface z = 1+ €% siny, above z = 0, and surrounded
r‘— by planesz =0,z = 1,y=0,y =7
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% (\\’ 7. Use Lagrange multiplier method to find the minimum/maximum of the product of three
nonnegative real numbers whose sum equals 100.
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2 F& Use double integral in polar coordinates to find the area inside the cardioid » = 1 + cosé.
7 f‘ (Sketch the region first to determine the limit of integration)
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Q) 9. Find the volume of the solid that Ties within the cylinder 22 + y? = 1, and between the plane

z =0 and the top half sphere z = /4 — 22 — y2.
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€ td' 10. Given the following iterated integrals
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Sketch the region of integration. Then change the integration order to dydzdz.
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11. Find the mass, moments about z,y axis, and center of mass for a lamina that occupies the
region D which is bounded by y = 22 and = = y%. The density is p(z,y) = VT
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